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GEOMETRICAL CONSTRUCTIONS

Examples

1. Draw the perpendicular bisector of a given

line segment AB and write justification.

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_7m1Dge69HUJf


Watch Video Solution

2. Construct the bisector of a given angle ABC.

Watch Video Solution

3. Draw a ray AB with initial point A and

construct a ray AC such that  = 60°.

Watch Video Solution

∠BAC

https://dl.doubtnut.com/l/_7m1Dge69HUJf
https://dl.doubtnut.com/l/_p3JUHAkuneRF
https://dl.doubtnut.com/l/_XjkARWI5dxro


4. Construct a  given BC = 5 cm., AB +

AC = 8 cm. and  .

Watch Video Solution

△ ABC

∠ABC = 60∘

5. Construct ABC in which BC = 4.2 cm,  =

 and AB − AC = 1.6 cm

Watch Video Solution

Δ ∠B

30∘

https://dl.doubtnut.com/l/_FaPlyOv2IZyz
https://dl.doubtnut.com/l/_E9z6BTvqchwE


6. Construct  in which BC = 5cm, 

and AC − AB = 1.8 cm.

Watch Video Solution

△ ABC

∠B = 45∘

7. Construct a segment of a circle on a chord

of length 7cm. and containing an angle of .

Watch Video Solution

60∘

https://dl.doubtnut.com/l/_YrEhB7z7cbIX
https://dl.doubtnut.com/l/_leMX4mUzq6kB


8. Draw the perpendicular bisector of a given

line segment AB and write justification.

Watch Video Solution

9. Construct the bisector of a given angle ABC.

Watch Video Solution

10. Draw a ray AB with initial point A and

construct a ray AC such that  = 60°.∠BAC

https://dl.doubtnut.com/l/_zwYQZiLiyNEm
https://dl.doubtnut.com/l/_YlnU0ETcoCIE
https://dl.doubtnut.com/l/_D7BHX1YshrQu


Watch Video Solution

11. Construct a  given BC = 5 cm., AB +

AC = 8 cm. and  .

Watch Video Solution

△ ABC

∠ABC = 60∘

12. Construct ABC in which BC = 4.2 cm,  =

 and AB − AC = 1.6 cm

Watch Video Solution

Δ ∠B

30∘

https://dl.doubtnut.com/l/_D7BHX1YshrQu
https://dl.doubtnut.com/l/_2vv4Qft2JrY9
https://dl.doubtnut.com/l/_x1HsHh4Twjfj
https://dl.doubtnut.com/l/_iJ05qhhoYtfU


13. Construct  in which BC = 5cm, 

and AC − AB = 1.8 cm.

Watch Video Solution

△ ABC

∠B = 45∘

14. Construct a triangle ABC, in which

and AB + BC + CA = 11

cm.

Watch Video Solution

∠B = 60∘ , ∠C = 45∘

https://dl.doubtnut.com/l/_iJ05qhhoYtfU
https://dl.doubtnut.com/l/_bpMZB1zv9cGT


Try This

15. Construct a segment of a circle on a chord

of length 7cm. and containing an angle of .

Watch Video Solution

60∘

1. Observe the sides, angles and diagonals of

quadrilateral BEFD. Name the figures given

https://dl.doubtnut.com/l/_Pp49eJUliN3D
https://dl.doubtnut.com/l/_3o5mND4f2mQE


below and write properties of figures. 

Watch Video Solution

2. Draw a circle, Identify a point on it. Cut arcs

on the circle with the length of the radius in

succession. How many parts can the circle be

divided into? Give reason.

Watch Video Solution

https://dl.doubtnut.com/l/_3o5mND4f2mQE
https://dl.doubtnut.com/l/_jiT2itD0qe1h
https://dl.doubtnut.com/l/_vzCAEX41QUCr


3. What happen if the angle in the circle

segment is right angle? What kind of segment

do you obtain? Draw the figure and give

reason.

Watch Video Solution

4. Can you construct a triangle ABC with BC = 6

cm,  and AB + AC = 5cm.? If not, give

reasons.

Watch Video Solution

∠B = 60∘

https://dl.doubtnut.com/l/_vzCAEX41QUCr
https://dl.doubtnut.com/l/_jqW7Q5tCS9kg


5. Observe the sides, angles and diagonals of

quadrilateral BEFD. Name the figures given

below and write properties of figures. 

Watch Video Solution

6. Draw a circle, Identify a point on it. Cut arcs

on the circle with the length of the radius in

https://dl.doubtnut.com/l/_lEAmur46PJIc
https://dl.doubtnut.com/l/_wUCht0iUnSyd


succession. How many parts can the circle be

divided into? Give reason.

Watch Video Solution

7. What happen if the angle in the circle

segment is right angle? What kind of segment

do you obtain? Draw the figure and give

reason.

Watch Video Solution

https://dl.doubtnut.com/l/_wUCht0iUnSyd
https://dl.doubtnut.com/l/_IWpYHSgA9g3H


Exercise 13 1

1. Construct the following angles at the initial

point of a given ray and justify the

construction. 

(a)  (b) 

Watch Video Solution

90∘ 45∘

2. Construct an equilateral triangle, given its

side of length of 4.5 cm and justify the

construction.

https://dl.doubtnut.com/l/_wfq10I0bi8S8
https://dl.doubtnut.com/l/_X9Gh9i3HfjwD


Watch Video Solution

3. Construct an isosceles triangle, given its

base and base angle and justify the

construction.

Watch Video Solution

4. Construct the following angles at the initial

point of a given ray and justify the

https://dl.doubtnut.com/l/_X9Gh9i3HfjwD
https://dl.doubtnut.com/l/_qJ1AUNzRSLLe
https://dl.doubtnut.com/l/_86h180oWp09n


construction. 

(a)  (b) 

Watch Video Solution

90∘ 45∘

5. Construct an equilateral triangle, given its

side of length of 4.5 cm and justify the

construction.

Watch Video Solution

https://dl.doubtnut.com/l/_86h180oWp09n
https://dl.doubtnut.com/l/_i6WeFLpGhbdv


Exercise 13 2

6. Construct an isosceles triangle, given its

base and base angle and justify the

construction.

Watch Video Solution

1. Construct  in which BC = 7 cm, 

 and AB + AC = 12 cm.

Watch Video Solution

△ ABC

∠B = 75∘

https://dl.doubtnut.com/l/_YpdWHJRP5Hgr
https://dl.doubtnut.com/l/_3Ozy7J4Wgiuk


2. Construct  in which QR = 8 cm, 

 and PQ − PR = 3.5 cm

Watch Video Solution

△ PQR

∠Q = 60∘

3. Construct  in which , 

 and XY + YZ + ZX = 10 cm.

Watch Video Solution

△ XYZ ∠Y = 30∘

∠Z = 60∘

https://dl.doubtnut.com/l/_3Ozy7J4Wgiuk
https://dl.doubtnut.com/l/_TVPNh8dBAc1y
https://dl.doubtnut.com/l/_WwxXrV6ixv8f


4. Construct a right triangle whose base is

7.5cm. and sum of its hypotenuse and other

side is 15cm.

Watch Video Solution

5. Construct a segment of a circle on a chord

of length 5cm. containing the following

angles. 

(i)  (ii)  (iii) 

Watch Video Solution

90∘ 45∘ 120∘

https://dl.doubtnut.com/l/_A5zf1razojVH
https://dl.doubtnut.com/l/_Bt1Esl4qpEpH


6. Construct  in which BC = 7 cm, 

 and AB + AC = 12 cm.

Watch Video Solution

△ ABC

∠B = 75∘

7. Construct  in which QR = 8 cm, 

 and PQ − PR = 3.5 cm

Watch Video Solution

△ PQR

∠Q = 60∘

https://dl.doubtnut.com/l/_Bt1Esl4qpEpH
https://dl.doubtnut.com/l/_0CpbaIklMn2v
https://dl.doubtnut.com/l/_wsYpoW1jOXDo


8. Construct  in which , 

 and XY + YZ + ZX = 10 cm.

Watch Video Solution

△ XYZ ∠Y = 30∘

∠Z = 60∘

9. Construct a right triangle whose base is

7.5cm. and sum of its hypotenuse and other

side is 15cm.

Watch Video Solution

https://dl.doubtnut.com/l/_SsnW1p8opTDa
https://dl.doubtnut.com/l/_EWeRn6JWndXh


10. Construct a segment of a circle on a chord

of length 5cm. containing the following

angles. 

(i)  (ii)  (iii) 

Watch Video Solution

90∘ 45∘ 120∘

https://dl.doubtnut.com/l/_Rsa209qkz6me

